23 22 o 20 19 18 n 15 15 " 13 12 1 10 9 8 1 6 5 4 3 2

2
TOA042_SVC

I FOR SERVICE
REFERENCE ONLY

NOTES:

m TORQUE SCREW TO Il IN/LB (2 PLCS)

12 12 |WASHERI0-204X440SS 90706012 WASHER,FLAT #10 SS
I 3 [WASHER_I10.C-SINK_SS 90706203 WASHER, #10,.594 OD,CTSK FINISH, 18-8,8$
10 3 [Tws08 90701210 SPRING, COMPRESSION, .30 OD x 1.0 L SS
9 2 |T0399 99260592 SPACER, LAMP_SOCKET, Z-AX1S
8 | [Tw70l 99150025EF | SOCKET, LAMP, PGJ50
1 2 | SCREWM4AC40W-B7 91000440 SCREW,M4 SOCKET CAP 40 BZ SEMS
6 | [SCREWM4AC08SS 91100408 SCREW,M4 SOCKET CAP 08 S§
5 3 | SCREWI0-32POI500SS 90709205 SCREW, 10-32,PHIL OVAL | 1/2,18-8,8S
4 | TWIT3 99080303 PLATE, LAMP MOUNTING SG
3 I [TwiT2 99080302 PLATE, LAMP ADJUST, $G
2 3 |NUTI0-32ACORN_LK 90703108 NUT, ACORN10-32,SELF-LOCK, 3/8W, 13/32H $§
| I [To413 55030087 LAMP, 2500 WATT FASTFIT
ITEM NO.| OTY. FILENAME PART NO. DESCRIPTION
BILL OF MATERIALS
UNLESS OTHERWISE SPECIFIED|RELEASE DATE: CE. High €nd 2105 GRACY FARMS LANE
DIMENS IONAL TOLERANCES: [ENG: OA p IRt e i
0 PLACE DECIMAL = £0.38 [y = :
| PLACE DECIMAL = £0 35 : FAX (512) 832-4128  LIGHTWAVE
2 PLACE DECIMALS =0 13 |MFG- DR svasame® hitp://www.highend.com RESEARCHa
ANGLES = 0.5 DESCRIPTION
FOR PAINTED PARTS REFER TO LAMP , ASM, ADJUST, 2500W
ENG. SPEC. MANUAL WI-0592 [reain AT
ALL COMPONENTS, NATERIALS AND |CHARTED NONE
FINISHES T0 BE RoHS COMPLIANT
PROPRIETARY NOTICE: MIN._DRAFT INTERPRET DIMENSIONS PER SI PART MO, ORAVING N0, fev.
THIS DOCUMENT CONTAINS CONFIDENTIAL AND PROPRIETARY INFORMATION OF HIGH END SYSTEMS INC., (ALSO DBA LIGHTWAVE RESEARCH) AND IS GIVEN TO THE RECEIVER IN CONFIDENCE MIN. RADIT ASME Y14.5M-1994
THE RECEIVER ACCEPTS AND AGREES THAT, EXCEPT AS AUTHORIZED BY HIGH END SYSTENS, THE RECEIVER VILL NOT PERMIT THE USE OF THE DOCUMENT OR ANY COPY THEREOF OR THE FLATNESS THIRD ANGLE PROJECTION METRIC ‘ N T E R N A L TQA O 4 2 _ S \/C
TNFORMATION THEREIN, WILL NOT COPY OR PERMIT COPYING THE DOCUMENT WILL NOT DISCLOSE TO OTHERS CITHER THE DOCUNENT OR THE INFORMATION THEREIN, AND WILL UPOK COWPLETION THICKNESS DIMENSIONS ARE 1N MiLLIMETERS| AT
OF THE NEED T0 RETAIN THE DOCIENT,_OR UPON DEWAND, JETURN THE DOCURENT VITHOUT RETAINING AN O THE_ INFORMATION CONTA D THEREIN I MY FORN WHATSORVER VOLUE D0 NOT SCALE ]sSALE: 1000 [SHEET: 1 OF 1

5 T ] 13 m ™ g 3 T g



